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EXERCISE 3.4 Do ¢n book and copy. “i}[

A. Solve these word problems.

How many are boyg?
16 children are in the playground. 11 are girls. many oys’

(
| 6 children @’
- 11 girls

0 5 . boys

There are _5 boys

There were 835 chillies on a plant 9 chillies fell. How many ch1ll1es
are left on the plant?

g chillies
— 0 q chillies fell
-1 £ chillies are left

2 & chillies are left on the plant (

There are 24 rose bushes in the park. 5 bushes have red roses.
How many bushes do not have red roses?

gj;; nose buahes
- 05 _ned dose hushon
l q . busher donod noOVe. '”LQL{ kog

A3 bushes do not have red roses. (>

Tanya is_9 years old. Her grandmother is 72 years old. How many

years older is Tanya s grandmother than Tanya?
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@ Tanya s grandmother is 633.!1.9 older than Tanya, (> T Tan 3@ 1




ADDITION AND SUBTRACTION FACTS

Recall the addition and subtraction facts. D® (N Lpo {&
ga Yy ,z x 4 :#“ -Jv & Yy -7(./; ,.,:/;,/J’,‘,/f(./f
9 & 1 o 16 1 6
R + 9 4 - 9 4 - 14
— *
[ 6 1 6 7 & 9 S

Fill in the ) to complete these addition and subtraction facts.
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Use the three numbers to write the related add%i(om%ag\ld %gtﬁlctiﬂn fact% |

D9Y DRIRL) DRURD
6)+ 9)=15) 4)+ &)= 1Y 5H+])=-n"
)+ &)= 8)+ +)= 'Y Yr 8- W
$)-@)-Y 9~ 4= &) Y-8~ Y

15 9)= §) 12) - e)— 4) M- Y- &
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